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Solving One-Step Equations
2-1

Reteaching
You can use the properties of equality to solve equations. Subtraction is the inverse of addition.
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What is the solution of x + 5 = 33?
In the equation, x + 5 = 33, 5 is added to the variable. To solve the equation, you need to isolate the variable, or get it alone on one side of the equal sign. Undo adding 5 by subtracting 5 from each side of the equation.
Drawing a diagram can help you write an equation to solve the problem.
	Solve
	x + 5 = 33
	

	
	x + 5 – 5 = 33 – 5
	Undo adding 5 by subtracting 5.

	
	x = 28
	Simplify. This isolates x.

	Check
	x + 5 = 33
	Check your solution in the original equation.

	
	28 + 5 ? 33
 33 = 33[image: image3.png]



	Substitute 28 for x.


The solution to x + 5 = 33 is 28.
Division is the inverse of multiplication.
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What is the solution of 
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In the equation, 
[image: image6.wmf], the variable is divided by 5. Undo
dividing by 5 by multiplying by 5 on each side of the equation.
	Solve
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	Undo dividing by 5 by multiplying by 5.

	
	x = 60
	Simplify. This isolates x.


The solution to 
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Solving One-Step Equations
2-1

Reteaching (continued)
Exercises
Solve each equation using addition or subtraction. Check your answer.
	1. –3  = n + 9
	2. f + 6 = – 6
	3. m + 12 = 22

	4. r + 2 = 7
	5. b + 1.1 = –11
	6. t + 9 = 4


Define a variable and write an equation for each situation. Then solve.
7. A student is taking a test. He has 37 questions left. If the test has 78 questions, how many questions has he finished?
8. A friend bought a bouquet of flowers. The bouquet had nine daisies and some roses. There were a total of 15 flowers in the bouquet. How many roses were in the bouquet?
Solve each equation using multiplication or division. Check your answer.
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15. A student has been typing for 22 minutes and has typed a total of 1496 words. Write and solve an equation to determine the average number of words she can type per minute.
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